[N of reco track vs normalized 1] (oot Goootosmy e v romameT ¥ e
9] 1%} F 4] 0
x x o x x
[*] 5] L 5] 5]
© © © ©
B ) N, P A, P AP S A = 6 = 5 =

Poeieeer 5 10°F o 10 3 10°
= F 3 g
£ s g
s
............ 10* 3 10°F

=
o
o

=
Q
£y
[N
(=}
@
=
o
S
m

10k~

i =

102k

0"02468101214161820 O"02468101214161820 O'TJ 0 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?

s o e o A i p—
| N of reco track vs. sl —— BéM—leeISBE¥emBTa{et?ut‘??hlSquargg1 s%e S%%r rﬂasel-newqeam Jyerset

true tracks
=
om
fake tracks

duplicate tracks

=
o
il

10*

Ratio




	Contents
	Page 1


